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FEK24%E 6H 27.28.29H ER245E10H2H
iR | TREHEE (| IRSHEE (b | IEHEE Gt | IGHRE G | IEHRE (b | IEHRE (it
F5cm) F50cm) £F100cm) F5cm) F50cm) F100cm)
[u Sv/h] [y Sv/h] [u Sv/h] [u Sv/h] [u Sv/h] [u Sv/h]
A 1 As 0.14 0.13 0.14
A 2 As 0.10 0.09 0.10
A 3 = 0.15 0.14 0.13
A 4 = 0.15 0.16 0.15
A 5 = 0.17 0.16 0.15
A 6 + 0.15 0.17 0.15
A 7 + 0.17 0.18 0.16
A 8 T 0.15 0.19 0.17
A 9 + 0.15 0.15 0.15
A T 0.15 0.14 0.14
A As 0.12 0.12 0.12
B As 0.34 0.19 0.17 0.10 0.13 0.12
B T 0.20 0.17 0.13
B T 0.19 0.17 0.14
B = 0.06 0.06 0.05
B + 0.19 0.16 0.13
B EBE 0.06 0.05 0.05
B + 0.19 0.12 0.12
B + 0.19 0.17 0.13
B BE 0.06 0.07 0.07
B TEiE 0.17 0.16 0.13
B As 0.09 0.09 0.10
C As 0.21 0.24 0.21 0.09 0.14 0.14
C T 0.18 0.13 0.12
C EBE 0.07 0.06 0.06
C BE 0.06 0.05 0.06
c BE 0.07 0.06 0.06
C BE 0.06 0.05 0.05
C BE 0.06 0.05 0.05
C BE 0.07 0.06 0.07
c BE 0.06 0.06 0.05
C BE 0.07 0.07 0.07
c As 0.09 0.08 0.09
D As 0.15 0.19 0.18
D As 0.09 0.10 0.09
D As 0.10 0.09 0.10
D As 0.12 0.14 0.13
D As 0.12 0.14 0.15
D TEiE 0.11 0.13 0.13
D Co 0.19 0.12 0.13
D As 0.09 0.12 0.13
D As 0.09 0.09 0.08
D As 0.09 0.10 0.09
D As 0.10 0.09 0.08
E As 0.13 0.17 0.18
E As 0.10 0.10 0.11
E | 0.16 0.16 0.16
E + 0.19 0.18 0.15
E = 0.12 0.14 0.13
E = 0.16 0.14 0.13
E Co 0.16 0.13 0.14
E As 0.15 0.15 0.16
E As 0.12 0.11 0.09
E As 0.12 0.12 0.09
E As 0.14 0.15 0.14
E Co 0.16 0.13 0.13
E Co 0.12 0.12 0.13
F As 0.15 0.19 0.19
F As 0.11 0.11 0.11
F EE 0.07 0.08 0.07
F B 0.07 0.06 0.07
F BE 0.08 0.05 0.06
F BE 0.07 0.07 0.06
F BE 0.06 0.06 0.06
F BE 0.09 0.09 0.07
F Co 0.11 0.10 0.09
F T 0.19 0.13 0.12
G As 0.12 0.17 0.13
G As 0.09 0.09 0.10
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BRI BEEAE
SER24%F 6H 27, 28.29H 245 10H2H
TRETHRE (Hh | IREHRE (Hh | MEHRE (G | BREHREE G | IGHEE (b | IGTHE = (it
E5cm) £50cm) £100cm) F5cm) £ 50cm) £100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]
G T 0.19 0.14 0.14
G T 0.15 0.13 0.12
G T 0.17 0.17 0.15
G T 0.18 0.17 0.16
G 5 0.12 0.13 0.13
G T 0.13 0.13 0.12
G T 0.10 0.11 0.12
G T 0.13 0.11 0.11
G T 0.15 0.10 0.11
G T 0.18 0.14 0.13
G T 0.13 0.12 0.13
H As 0.12 0.09 0.11
H As 0.08 0.09 0.10
H T 0.20 0.17 0.17
H T 0.16 0.14 0.14
H T 0.15 0.16 0.16
H T 0.16 0.16 0.13
H T 0.16 0.14 0.13
H T 0.16 0.15 0.14
H T 0.12 0.12 0.12
H T 0.12 0.13 0.12
H T 0.12 0.12 0.12
H T 0.14 0.13 0.12
H T 0.15 0.15 0.14
I As 0.16 0.14 0.12
I As 0.08 0.08 0.09
[ T 0.17 0.14 0.14
I T 0.13 0.15 0.15
[ T 0.16 0.15 0.15
I T 0.17 0.17 0.16
[ T 0.13 0.13 0.13
I T 0.13 0.15 0.16
[ T 0.13 0.14 0.14
I T 0.13 0.12 0.13
[ T 0.12 0.13 0.12
I T 0.15 0.14 0.14
I Co 0.12 0.12 0.13
J As 0.23 0.27 0.20 0.10 0.08 0.09
J As 0.08 0.07 0.09
J T 0.15 0.15 0.15
J T 0.17 0.15 0.16
J T 0.14 0.16 0.15
J T 0.16 0.16 0.15
J T 0.13 0.14 0.11
J T 0.12 0.12 0.12
J T 0.16 0.14 0.14
J T 0.11 0.12 0.12
J T 0.16 0.14 0.13
J T 0.16 0.14 0.14
J 3 0.13 0.12 0.11
K As 0.19 0.24 0.18 0.09 0.09 0.09
K As 0.08 0.08 0.08
K T 0.20 0.17 0.15
K T 0.16 0.15 0.15
K T 0.13 0.13 0.13
K T 0.11 0.12 0.12
K T 0.11 0.13 0.11
K T 0.12 0.13 0.11
K T 0.13 0.14 0.14
K T 0.13 0.13 0.13
K T 0.13 0.13 0.12
K T 0.14 0.14 0.13
K =3 0.12 0.12 0.10
L As 0.24 0.23 0.19 0.08 0.08 0.08
L As 0.08 0.08 0.10
L T 0.17 0.17 0.17
L T 0.17 0.16 0.16
L T 0.16 0.17 0.15
L T 0.13 0.12 0.13
L T 0.13 0.12 0.11
L T 0.12 0.11 0.11
L T 0.14 0.14 0.13
L T 0.14 0.14 0.13
L T 0.16 0.14 0.15
L T 0.17 0.15 0.14




BRI BEEAE
ERR24%F 68 27,28, 29H 24 10H2H
WR | REHRE Gt | REHRE (b | ISHEE (G | IRGHRE G | IEHRE (b | IEHRE G | HE
E5cm) £50cm) £100cm) E5cm) £50cm) _£100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]
L T 0.13 0.14 0.12
M As 0.24 0.19 0.15 0.07 0.08 0.09
M As 0.09 0.08 0.09
M T 0.24 0.19 0.18 0.09 0.10 0.11
M T 0.18 0.15 0.14
M T 0.14 0.13 0.15
M T 0.13 0.13 0.11
M T 0.12 0.13 0.12
M T 0.16 0.15 0.13
M T 0.15 0.14 0.14
M T 0.14 0.14 0.15
M T 0.14 0.14 0.13
M T 0.15 0.16 0.15
M T 0.10 0.10 0.11
N As 0.33 0.26 0.21 0.08 0.10 0.10
N As 0.07 0.08 0.10
N T 0.12 0.12 0.11
N T 0.12 0.12 0.13
N T 0.14 0.14 0.14
N T 0.17 0.13 0.14
N T 0.13 0.13 0.13
N T 0.14 0.12 0.12
N T 0.16 0.15 0.14
N T 0.16 0.14 0.15
N T 0.16 0.16 0.14
N T 0.17 0.16 0.15
N T 0.13 0.13 0.12
6] As 0.25 0.24 0.20 0.05 0.07 0.09
0] As 0.07 0.07 0.08
6] T 0.14 0.12 0.13
0] T 0.13 0.13 0.12
6] T 0.13 0.14 0.12
0] T 0.14 0.13 0.12
6] T 0.14 0.13 0.12
0] T 0.14 0.13 0.14
6] T 0.14 0.15 0.14
0] T 0.13 0.12 0.12
6] T 0.13 0.14 0.12
0] T 0.18 0.16 0.16
6] T 0.15 0.15 0.13
P As 0.16 0.19 0.17
P As 0.06 0.06 0.07
P T 0.14 0.13 0.12
P T 0.20 0.16 0.13
P T 0.15 0.15 0.14
P T 0.14 0.14 0.14
P T 0.15 0.13 0.13
P T 0.14 0.15 0.13
P T 0.17 0.16 0.14
P T 0.12 0.13 0.12
P T 0.15 0.12 0.13
P T 0.16 0.14 0.13
P T 0.17 0.14 0.13
Q As 0.49 0.28 0.19 0.06 0.08 0.07
Q As 0.07 0.07 0.07
Q x 0.14 0.13 0.13
Q T 0.13 0.13 0.12
Q x 0.10 0.12 0.12
Q T 0.13 0.13 0.14
Q x 0.14 0.12 0.11
Q T 0.11 0.12 0.15
Q T 0.11 0.12 0.13
Q T 0.12 0.12 0.13
Q I 0.14 0.14 0.16
Q = 0.24 0.19 0.18 0.08 0.09 0.13
Q £l 0.17 0.17 0.15
R As 0.50 0.28 0.20 0.17 0.19 0.15
R As 0.07 0.06 0.10
R T 0.12 0.12 0.12
R I 0.12 0.12 0.12
R T 0.11 0.11 0.12
R I 0.12 0.12 0.12
R T 0.13 0.11 0.11
R T 0.11 0.11 0.11
R T 0.11 0.10 0.10




EE TR BREEAGE
ERR24%F 68 27,28, 29H 245 10H2H
BIE = KR | IREHRE (| REHRE (b | METRE (Gt | IGHRE (Gt | RESHEE Gt | IRSTREG | BS
F5cm) £50cm) £100cm) F5cm) £ 50cm) £100cm)
[ Sv/h] [y Sv/h] [y Sv/h] [p Sv/h] [y Sv/h] [u Sv/h]

R 220 + 0.11 0.12 0.11

R 221 + 0.11 0.12 0.11

R 222 = 0.15 0.19 0.16

R 223 = 0.18 0.18 0.18

S 224 As 0.19 0.20 0.16

S 225 As 0.07 0.09 0.10

S 226 + 0.16 0.13 0.13

S 227 + 0.12 0.14 0.12

S 228 + 0.11 0.12 0.11

S 229 + 0.11 0.10 0.11

S 230 + 0.09 0.11 0.10

S 231 + 0.11 0.12 0.12

S 232 + 0.12 0.13 0.13

S 233 + 0.15 0.15 0.13

S 234 T+ 0.14 0.13 0.14

S 235 = 0.17 0.16 0.16

S 236 = 0.09 0.15 0.15

T 237 As 0.23 0.22 0.17 0.09 0.10 0.10
T 238 As 0.06 0.08 0.11

T 239 + 0.12 0.13 0.11

T 240 T+ 0.10 0.12 0.11

T 241 + 0.14 0.14 0.13

T 242 T+ 0.13 0.14 0.14

T 243 + 0.14 0.15 0.14

T 244 T+ 0.14 0.16 0.13

T 245 + 0.15 0.16 0.15

T 246 T+ 0.15 0.17 0.15

T 247 + 0.17 0.16 0.16

T 248 = 0.22 0.20 0.19

T 249 = 0.38 0.27 0.23 0.12 0.12 0.13
U 250 As 0.30 0.20 0.15 0.11 0.14 0.14
u 251 As 0.10 0.09 0.09

U 252 As 0.12 0.11 0.10

u 253 + 0.12 0.14 0.13

U 254 T+ 0.09 0.14 0.14

u 255 = 0.24 0.17 0.14 0.10 0.13 0.11
u 256 ] 0.21 0.18 0.18

1] 257 = 0.25 0.19 0.18 0.15 0.15 0.14
u 258 ] 0.17 0.18 0.18

u 259 = 0.20 0.18 0.20

u 260 ] 0.18 0.18 0.19

1] 261 = 0.20 0.20 0.18

u 262 ] 0.14 0.16 0.15

Vv 263 As 0.10 0.11 0.11

Vv 264 As 0.11 0.11 0.10

Vv 265 As 0.11 0.10 0.11

Vv 266 As 0.09 0.10 0.11

Vv 267 As 0.11 0.11 0.10

Vv 268 = 0.26 0.19 0.18 0.13 0.13 0.13
Vv 269 = 0.15 0.18 0.18

Vv 270 = 0.41 0.30 0.22 0.13 0.11 0.12
Vv 271 = 0.38 0.23 0.19 0.11 0.11 0.11
Y] 272 = 0.28 0.21 0.21 0.15 0.12 0.13
Vv 273 = 0.22 0.20 0.17

Y] 274 ] 0.35 0.20 0.18 0.10 0.12 0.12
V 275 + 0.21 0.15 0.14

W 276 + 0.19 0.17 0.18

W 277 + 0.27 0.27 0.23 0.10 0.11 0.12
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